Al

Bl

El

D1

l..xx;.n;lnn;:x‘n;gxl“

o]
o Y

/0 [} O\
= OO0OO0O0 e e
00000000000000000000

o

o Yool Yool Yoo
] °O°° 00 )0 9 ] oOoo ooOoo
o\ oo\ oo\ _Joo

S=00 coc—@
©0000000000000000000
oofJocoo[[ocoo[Joooo[loo
oollocoo||oocoolcooolfoo
000000000000000000600
coo o o coo .
00000000000000000000 <
oofJocoo[[ocoo[[oooo[loo
oollocoo||ocoo|looooffoo
©000000000000000000600
—oo ° ° I
©0000000000000000000
ooflocoo[Joooo[J[ocoo[loo bararad
® oollocoo|lococ|oocoo|oc © cooollocas
00000000000000000000 cooebeoas
000 ° ° coo
©0000000000000000000
oofJocoo[[ocoo[[oocoo[loo PSS DESS
oollocoo||ocoo|loooolfoo sooollocas
000000000000000000600 c0e08002s
ooo ° ° ocoo
©0000000000000000000
oo[[cococo[[occo[[occo[loo g 0 %038 92%2s
oollocoo||ocoolloooolfoo sooollocas
00000000000000000000 0000
HET ° ° I
©0000000000000000000 Soo0
oofJocoo[[ocoo[Joocoo[|oo oooe
eollocool||ocoolloooolfee = o060
0 | [S)° 0000000000000 00([ = o600
V)] o o——10 0 0—100 0 ()
000000000000

C1

Al Bl C1 D1

Type of MEDIA enclosure [mm] [mm] [mm] [mm]

El
[mm]

Pde

Weight
[kal

ECT 3X18PO MEDIA-MOD 526 396 112 357

289

63

2,90

ECT 4X18PO MEDIA 2xMOD 655 396 112 482 289 63 3,55
ECT48PO MEDIA 1xMOD 652 287 112 482 180 63 2,65
ECT48PO MEDIA 2xMOD 652 287 112 482 180 63 2,90

For indoor locations (£ 50% RH at max. +40°C or for example 90% RH at +20°C)
Temperature range: -25°C ... +60°C, Rating Voltage AC 400V; IP40; Class II; IKO8
According to: IEC 60670; IEC 62208

SWITCH TO
A SAFE FUTURE

Mounting instructions
Montage anleitung
Navodilo za montazo
Instrukcje montazu
Upute za montazu
Montazni navod
Navod na montaz
Szerelesi utmutato
Montavimo instrukcija
MHCTpyKUMA 38 MOHTaX
Montazas instrukcija
Paigaldusjuhend

9000e8REPLRE

www.etigroup.eu

Przyktadowy widok obudow ECT MEDIA_MOD

ETI Elektroelement d.o.o.
Obrezija 5
1411 Izlake

Slovenia

ETI Polam Sp. z 0.0.
ul. Jana Pawta Il 18
06-100 Puttusk
Polska




Assembly of ECT MEDIA 1xMOD enclosure

(U

s

z
o

o
173

Type Pcs.

Bottom of ECT enclosure

Mounting plate with socket

Tapping screw

Front of ECT enclosure

Front fender pin

Door of ECT enclosure

N[O [AR W[N]

DIN Rail TH35

NN

PE/N terminal

No. Type Name Pcs.
1 EGN-1BS/00 / EGN-1BZ/00 Socket 1
2 M4x10 WW-PZ-B DIN7985 Screw M4 DIN7985 2
3 P4.0X9.0x0.8B DIN125 Washer M4 DIN125 2
4 NM 4B DIN934 Nut M4 DIN934 2

‘ - first mounting position

’ - other mounting positions

Assembly of ECT MEDIA 2xMOD enclosure

(RN O ‘w@u\w L il

)

z
o

o
2}
ld

Type

Bottom of ECT enclosure

Mounting plate with socket

Tapping screw

Front of ECT enclosure

Front fender pin

Door of ECT enclosure

(N[O~ wW ([N

DIN Rail TH35

NNENEEIEE

PE/N terminal

o
=
—

——

No. Type Name Pcs.
1 EGN-1BS/00 / EGN-1BZ/00 Socket 1
2 M4x10 WW-PZ-B DIN7985 Screw M4 DIN7985 2
3 P4.0X9.0x0.8B DIN125 Washer M4 DIN125 2
4 NM 4B DIN934 Nut M4 DIN934 2

‘ - first mounting position

@ - other mounting positions




